
The current tax code is 55,000 pages of legalese that only a select few can, or would even want to, understand.  It doesn’t take 55,000 pages to define how much each person has to pay.  The vast majority is dedicated to defining deductions and exemptions for special interest groups.  When certain groups are exempted from paying taxes, the rest of us end up paying more.  Because of the complexity, over $600 billion is spent every year just to comply with the tax code.  In addition, millions of hours are spent filling out tax forms.  Despite this effort, the IRS says that over $300 billion will not be collected this year because of people and businesses not paying taxes.  Something is wrong with this picture.

While ideas such as simplification or a flat tax would help, they do not address the basic problem of an income tax.  Income taxes are taxes on production.  Economists say that if you want to discourage a behavior, tax it.  By taxing production you discourage production, investing, and saving and encourage consumption.  Conversely, if you tax consumption you discourage it and encourage production, investing, and saving.  Many economists, including Federal Reserve Chairman Alan Greenspan, support a consumption tax.

There are several types of consumption taxes including value added taxes (VAT), where a tax is added to an item at each stage of manufacture which is then passed along in the final price of an item, and a sales tax.  The VAT has been tried in many places and has proven to be oppressive, particularly when combined with sales and income taxes.  It is also rather complex and requires a significant amount of paperwork to track.  A sales tax, on the other hand, is much simpler and would be easy to collect since 46 states already have a system in place to collect sales tax.

Most opponents of the sales tax claim that the sales tax would increase prices and adversely affect those who must spend the majority of their income each month on cost of living.  However, there are currently bills in the House (HR 25) and Senate (SB 25) that would impose a National Retail Sales Tax (NRST) that is simple (the bill is 133 pages long as opposed to the current 55,000 pages long), easy to collect (it would collect taxes on all retail goods and services using the same system that states use to collect state sales taxes), difficult to avoid (you pay the tax whenever you make a retail purchase), progressive (you get to keep every penny you earn and only pay tax on spending above the basic cost of living), and wouldn’t affect prices (there would be a net 1% price increase over current prices.  In addition, the FairTax, as it is known, would create jobs and revitalize the economy in a manner not seen in decades.  Sounds good, you say, but how will it work?  The Americans for Fair Taxation, a non-profit grassroots organization formed to endorse the FairTax, has sent more than $3 million on studies, including one by Harvard University economists.  Here is what they found:
1. Prices will remain about the same

One of the key features of the FairTax is that it eliminates all taxes on businesses.  Since businesses pass along all taxes to consumers in the form of higher prices, this would lead to a decrease in prices.    The studies determined that approximately 22% tax inclusive of the price of goods and services in the US is due to embedded taxes.  When you reduce the price by 22% and then add a 23% tax-inclusive sales tax, the prices of goods and services will be approximately the same as they are now.
1. People will get to take home more money
Some argue that the NRST will adversely affect the approximately 50% of the population that does not currently pay any income tax under the current system.  This is specious since the first point shows that everyone pays the 22% embedded taxes in goods and services.  However, lower income workers who don’t pay income taxes still pay social security, medicare, and FICA taxes amounting to at least 8% of their income.  Elimination of these payroll taxes would result in an increase of spendable income.

2. No Sales Tax on the Cost of Living
The FairTax proponents feel that no one should be required to pay taxes on the basic costs of living.  The FairTax addresses this by means of a rebate, or more accurately a pre-bate.  Using the current guidelines for poverty levels, each head of household would receive a distribution each month equal to the amount of sales tax they would be expected to pay that month on the basic necessities.  For example, the basic cost of living for a married family of four was $24,900 in 2004.  Every married family of four in the US would receive $5727 every year, in 12 monthly installments of $477.25, for the sales tax they paid that year.
3. Summary – How it would affect families of three at different economic levels?

A. $25,000/year income -   Under the current system a family of 4 making $25,000 per year not only pays no income taxes, but receives a small rebate due to the earned income tax credit (EIC).  However, they spend all of their income on the basic necessities and have about 8% of their income taken out in payroll taxes.  The FairTax leads to a 22% increase in spendable income.



Current System


FairTax

Income

  
     $25,000



$25,000

Income Taxes

      -       $0



 -      $0
Payroll Taxes
  
      -$1,912
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Embedded Taxes
      -$5,471
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Sales Tax
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----------------------

-----------------------


Spendable Income
    $19,397



$24,977

B. 50,000/year income – Under the current system a married family of four making $50,000 per year pays a small amount in income taxes in addition to payroll taxes.  The FairTax calculation assumes that they spend all of their income rather than saving any, which would reduce their sales tax reduction.  The FairTax leads to a 21% increase in taxable income.
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Spendable Income
    $34,964



$44,227

C. 100,000/year income – Under the current system a married family of four making $100,000 per year pays a significant amount in income taxes in addition to payroll taxes, even factoring in deductions.  The FairTax calculation assumes that they spend all of their income rather than saving any, which would reduce their sales tax reduction.  The FairTax leads to a 24% increase in spendable income.
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Spendable Income
      $62,833



$82,727
Effects on the Economy
Under the current system, the prices of goods shipped overseas include an embedded 22% tax, making them less competitive than foreign-made goods that don’t include taxes.  The FairTax would eliminate this tax and make US made goods much more competitive overseas.  Economists have estimated that US exports would increase by 26% in the first year alone.  Increased demand means increased production.  Increased production means more jobs.  More jobs means more people with money to spend.  More people with money to spend means increased spending.  Increased spending means more demand and more tax revenue.  More demand means increased production, etc.  

